Name: Date: ‘ feaching
BRVAGEE

Rewrite vertically and solve. Rewrite vertically and solve.
8,922 + 226 = 9,148 16,653 + 9 = 1,850.333

Rewrite vertically and solve.

3,214 — 374 = 2,840
Find the sum.

3 3 _ o039
45+ 55 = 9%

Rewrite vertically and solve.
457 x 39 = 17,823

Name: Date: ‘ feaching
BRVAGEE

Rewrite vertically and solve. Rewrite vertically and solve.
8,449 + 355 = 8,804 75,134 + 7 = 10,733.429

Rewrite vertically and solve.
4,946 — 488 = 4,458

Find the difference.

3 1 1
Rewrite vertically and solve. 7 — 43 = 3%

943 x 25 = 23,575
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